



Douglas La Follette, Secretary of State Sarah Godlewski, State Treasurer Joshua L. Kaul, Attorney General

 101 E. Wilson Street
 608 266-1370 INFORMATION

 2nd Floor
 608 266-0034 LOANS

 PO Box 8943
 608 267-2787 FAX

 Madison, WI 53708-8943
 bcpl.wisconsin.gov

Thomas P. German, Executive Secretary

AGENDA

July 7th, 2020 2:00 P.M.

Board of Commissioners of Public Lands 101 E. Wilson Street, 2nd Floor Madison, Wisconsin

Routine Business:

- 1. Call to Order
- 2. Approve Minutes June 16th, 2020 (Attachment)
- 3. Approve Loans (Attachment)

Old Business:

4. None

New Business:

5. None

Routine Business:

- 6. Chief Investment Officer's Report
- 7. Executive Secretary's Report
- 8. Board Chair's Report
- 9. Future Agenda Items
- 10. Adjourn

AUDIO ACCESS INFORMATION

Toll Free Number: (888) 291-0079 Passcode: 6363690#

Board Meeting Minutes June 16th, 2020

Present were:

Sarah Godlewski, Board Chair
Josh Kaul, Commissioner
Doug LaFollette, Commissioner
Tom German, Executive Secretary
Richard Sneider, Chief Investment Officer
Mike Krueger, IT Manager
Denise Nechvatal
Thuy Nguyen, Office Manager
Julie Benkoske

State Treasurer
Attorney General
Secretary of State
Board of Commissioners of Public Lands
State Treasurer's Office

ITEM 1. CALL TO ORDER

Board Chair Godlewski called the meeting to order at 2:01 p.m.

ITEM 2. APPROVE MINUTES – June 2, 2020.

MOTION: Commissioner LaFollette moved to approve the minutes; Commissioner Kaul seconded the motion.

DISCUSSION: None

VOTE: The motion passed 3-0.

ITEM 3. APPROVE LOANS

MOTION: Commissioner LaFollette moved to approve the loans; Board Chair Godlewski seconded the motion.

DISCUSSION: Mr. Sneider shared that the loans are ordinary loans, two for roadwork and one for a fire truck.

VOTE: The motion passed 3-0.

The Board of Commissioners of Public Lands (BCPL) unanimously approved \$1,373,920.00 in State Trust Fund Loans to support 3 community projects in Wisconsin.

- 1. Town of Draper / Sawyer County / Finance purchase of fire truck / \$43,920.00
- 2. Town of Washington / Vilas County / Finance roadwork / \$1,300,000.00
- 3. Town of Bone Lake / Polk County / Finance roadwork / \$30,000.00

ITEM 5. NEW BUSINESS - NONE

ITEM 6. CHIEF INVESTMENT OFFICER'S REPORT

Mr. Sneider shared that he is working on a new report format. The new report will include current allocations, recent transactions, and progress toward the target allocations. He was not able to finalize the report for this meeting but hopes to have it ready for review in the next few meetings. He also shared that the BCPL's strategy has been to move slowly into diversifying its historical fixed income portfolio and other asset classes. BCPL wants to do this slowly because asset prices have been so high over the past few years. The recent collapse in equity prices in February and March provided BCPL with the opportunity to build those allocations to equities and it has now done that. Buying has been accelerated and average costs have significantly been reduced. It shows that BCPL's strategy has been a successful one. BCPL's portfolio remains very resilient. The average university endowment fell by 13.5% in the first quarter while the low point for the common school fund was a loss of less than 2%. The equity portfolio is up 3.4%, and that was before the rally that is going on today and the yield is 3.5% while the bond portfolio yield is 4% and as of this morning had an unrealized gain of more than 11 million dollars. Lastly, the investment committee has been looking at preferred stock to further diversify its holding to increase distributable income to the beneficiaries. At the investment committee meeting last week there was a unanimous vote to allocate 50 million dollars to preferred stock ETFs. It is difficult to categorize preferred stock within BCPL's asset allocation model because preferred shares contain attributes of both equities and fixed income. The investment committee thought it was best to include preferred shares in the public equity's category. However, the new investment in preferred stock will increase BCPL's investment in public equities above the 15% target allocation but remain well within the approved range in the investment policy.

Board Chair Godlewski commented that in times when the market is incredibly volatile, hearing about how resilient the BCPL trust fund is in comparison to others shows that the strategy is working and the work that Rich has been doing is appreciated. She adds that she thanks Rich for all his work and the work of the investment committee because this is when strategy really matters. Thank you for continuing to give us confidence that money is being managed.

ITEM 7. EXECUTIVE SECRETARY'S REPORT

Executive Secretary German commented about the shutdown of the Verso paper mill in Wisconsin Rapids. This was not a small matter. This plant processes approximately 20 to 25% of the pulpwood in Northern Wisconsin. They are laying off over 900 people. The ramifications of this are very large. Loggers are losing one of the primary places to sell their wood so many loggers are not cutting or even bidding on future timber sale contracts. Truckers will not be hauling trees. In an area of the State that is already hurting from the effects of the COVID 19 pandemic and a decrease in tourism, this part of the state will suffer even more. BCPL is likely to feel the effects in two different ways. First, our timber producing operations will probably take a hit. Secondly, we will probably receive more inquiries from local governments looking for funding for economic development projects in this area. It is hard to project how this is going to play out but he believes this will have a significant ripple effect. He added that he thinks it is important for the board to know this information as it will likely impact BCPL.

Board Chair Godlewski thanked Executive Secretary German for sharing that news. It is a big hit when you think about 900 jobs being lost in Wisconsin Rapids alone without looking at the supply chain. She asked about timber taking a hit and wanted to know if BCPL sells a lot of its timber to Verso.

Executive Secretary German commented that over the last couple years, he thinks there has only one timber sale that went directly to Verso. However, BCPL sells a lot to loggers who in turn sell to Verso. In terms of BCPL's timber operations, he believes BCPL will see fewer bidders on its timber sales and may have some sales that attract no bidders at all because loggers right now are so scared about what they are going to do with the wood. He suspects that some loggers will ask for more time on contracts that are already out there. He also shares that he is talking with Kevin and John of the Lake Tomahawk office and tracking unpaid timber sales. He is not aware of any receivables that are in danger but BCPL will need to keep track of these closely.

Board Chair Godlewski asked if BCPL has a harvest strategy that it can alter based on what the demand is.

Executive Secretary German replied that John sets up timber sales 10 years into the future. In essence, he is looking at what trees are reaching a maturity level for harvesting this year, next year, etc. John also looks at how to combine certain things. If there is a timber sale that is likely to get little attention, he will sell that in conjunction with a sale that will get a lot of attention. What BCPL is looking at now is if it is necessary to put the brakes on trying to sell anything that would head to that market and focus more on markets that would go to mills further to the north and west. Executive Secretary German explains that he does not have a good answer to Board Chair Godlewski question because the shut down is still rippling through the market. He shares that he will be on a call with Henry Schoenebeck tomorrow. Henry is the head of the Great Lakes Timber producers. He commented that he spoke with Henry for an hour and half about some of the different pieces that are impacting the market and he is still gathering more information himself. Tomorrow there is a regional meeting of timber producers in the northeastern part of the state and Executive Secretary German will have a better handle on how things are going then.

Commissioner LaFollette thanked Executive Secretary German for the information. Commissioner LaFollette commented that he has been in politics a long time and knows that area of Wisconsin has had paper mills closing and opening on and off for many years now. He adds that sometimes when a closing happens quickly somebody buys the facility but does not necessarily hire all the workers back. He comments that he has not heard about a buyer for the mill and asks if Executive Secretary German has heard anything about one.

Executive Secretary German commented that that was his first question. Is there a buyer in the wings or are there serious discussions going on with potential buyers? The answer he got was that it does not look like it. Often times when one is selling a business one wants to sell it as a going operation because you can get more value to it, if you wait until the operation is shuttered then you may get less, and may only be able to sell assets at that point. For Verso to decide to pull the plug and shut down the facility is a big deal. Verso is not shutting down the operation today, they are shutting off the acceptance of new wood and winding down their supply. There is always a chance for a buyer. Wisconsin has endured the closure of a number of mills but this one is bigger and has a further reach than many of the others that have closed.

Board Chair Godlewski commented that it was recently reported that this closure is a significant driver of the market conditions because of COVID. Depending on what the economic recovery could look like it might be able to reopen or partially reopen. Verso closed both facilities in Wisconsin Rapids and Duluth, MN. There was talk that if market conditions improve, they might be able to think through a different strategy and do something. She adds that she would like to talk to Executive Secretary German about the taskforce that is working at the economic development opportunities in that area. A discussion needs to be had to see if there is a role for BCPL.

ITEM 8. BOARD CHAIR'S REPORT

Board Chair Godlewski commented she just participated in a teleconference with the 72 county treasurers today. They talked about the current economic conditions they are facing at the local level. Part of that conversation was about the survey results she mentioned at a previous meeting. She surveyed the 72 county treasurers asking them if they were concerned about their increase in expenses related to COVID, while their revenue sources were either being delayed or decreasing and how does that impact their ability to keep their operations going at the local level.

This is such an uncertain time. 70% of the respondents said they are unsure what this is going to look like and unsure what their support could be. Knowing the Trust Fund Loan Program is available added some relief. They are waiting to see if there will be a fourth stimulus package from the federal government and what revenue that package might provide to local governments. Right now, counties may be looking at a gap between their decreased tax revenues and their projected expenses. Between county rainy day funds and budget cuts there is no way they will be able to make up that difference. The League of Municipalities estimated that the total lost revenue the state is facing this year is over 400 million dollars. She commented that she will continue to keep the board posted as she has more conversations and is happy the Trust Fund Loan Program is available.

ITEM 9. FUTURE AGENDA ITEMS

No new future agenda items.

ITEM 10. ADJOURN

Commissioner Lafollette moved to adjourn the meeting; Commissioner Kaul seconded the motion. The motion passed 3-0; the meeting adjourned at 2:17 p.m.

Thomas P. German, Executive Secretary

Link to audio recording:

https://bcpl.wisconsin.gov/SharedDocuments/BoardMeetingDocs/2020/2020-6-16 BoardMtgRecording.mp3

BOARD MEETING JULY 7, 2020

AGENDA ITEM 3 APPROVE LOANS

Muı	nicipality	Municipal Type	Loan Type	Loan Amount
1.	Randall Kenosha County Application #: 02020186 Purpose: Finance roadwork	Town Rate: 2.50% Term: 5 years	General Obligation	\$200,000.00
2.	Oconto Falls Oconto County Application #: 02020187 Purpose: Finance storm sewer project	City Rate: 2.50% Term: 5 years	General Obligation	\$143,000.00
3.	Preston Trempealeau County Application #: 02020188 Purpose: Finance new town shop/hall	Town Rate: 3.00% Term: 10 years	General Obligation	\$350,000.00
4.	La Crosse La Crosse County Application #: 02020189 Purpose: Finance WWTP projects	City Rate: 2.50% Term: 2 years	General Obligation	\$2,500,000.00
5.	La Crosse La Crosse County Application #: 02020190 Purpose: Finance property purchase	City Rate: 2.50% Term: 5 years	General Obligation	\$590,000.00
6.	Jump River Taylor County Application #: 02020191 Purpose: Finance roadwork	Town Rate: 2.50% Term: 4 years	General Obligation	\$310,000.00
7.	La Follette Burnett County Application #: 02020192 Purpose: Finance roadwork	Town Rate: 2.50% Term: 3 years	General Obligation	\$371,361.40
8.	Sparta Monroe County Application #: 02020193 Purpose: Finance property reassessment	Town Rate: 2.50% Term: 2 years	General Obligation	\$55,000.00

Mun	icipality	Municipal Type	Loan Type	Loan Amount
9.	Monticello Green County Application #: 02020194 Purpose: Finance school energy project	School Rate: 3.00% Term: 8 years	General Obligation	\$40,000.00
10.	Monticello Green County Application #: 02020195 Purpose: Refinance BCPL Loan #20060	School Rate: 2.50% Term: 5 years	General Obligation	\$148,090.95
11.	Janesville Rock County Application #: 02020196 Purpose: Finance Fire Prevention Contr	Town Rate: 2.50% Term: 2 years	General Obligation	\$300,000.00
12.	Elm Grove Waukesha County Application #: 02020197 Purpose: Finance excavator purchase	Village Rate: 2.50% Term: 5 years	General Obligation	\$190,000.00
13.	Chilton Calumet County Application #: 02020198 Purpose: Finance State Street Reconstru	City Rate: 3.00% Term: 10 years action Project	General Obligation	\$480,000.00
14.	Aurora Taylor County Application #: 02020199 Purpose: Finance purchase of patrol true	Town Rate: 3.00% Term: 7 years ck and accessories	General Obligation	\$150,000.00
15.	Addison Washington County Application #: 02020200 Purpose: Finance roadwork	Town Rate: 2.50% Term: 5 years	General Obligation	\$200,000.00
16.	Jackson Washington County Application #: 02020201 Purpose: Finance fire service contract a	Town Rate: 2.50% Term: 2 years nd community center	General Obligation	\$490,760.00
17.	Walworth Walworth County Application #: 02020202 Purpose: Finance sewer plant project	Village Rate: 2.50% Term: 2 years	General Obligation	\$350,000.00

Board of Commissioners of Public Lands Board Meeting - July 7, 2020 Agenda Item 3 - Approve Loans Page 3

Municipality		Municipal Type	Loan Type	Loan Amount	
18.	Webster Burnett County Application #: 02020203 Purpose: Finance water tower project	Village Rate: 3.00% Term: 10 years	General Obligation	\$92,800.00	
		TOTAL	-	\$6,961,012.35	



ETF and Mutual Fund Investments

As of 06/30/2020

Sumbal	Description	Quantity	Ava Cost	Cost	Current	Current Value	Unrealized	Percent	Current	Projected Annual
Symbol	Description	Quantity	Avg Cost	<u>Basis</u>	<u>Price</u>	<u>value</u>	Gain (Loss)	Gain (Loss)	<u>Yield</u>	Income
Corporate Deb	t									
USHY	iShares Broad USD HY Corp Bond	1,592,631	38.66	61,575,846	38.22	60,870,357	(705,489)	-1.1%	6.1%	3,700,802
JMSIX	JPM Income Fund	2,283,550	9.19	20,985,000	9.05	20,666,131	(318,869)	-1.5%	5.3%	1,096,621
BYLD	iShares Yield Optimized Bond ETF	789,248	25.39	20,036,919	25.62	20,220,534	183,615	0.9%	3.6%	724,567
				102,597,765		101,757,022	(840,743)	-0.8%	5.4%	5,521,989
Domestic Equit	ty									
VTI	Vanguard Total Stock Market ETF	222,373	137.90	30,664,202	156.53	34,808,046	4,143,844	13.5%	1.9%	644,659
VYM	Vanguard High Dividend Yield ETF	319,612	79.99	25,567,323	78.78	25,179,033	(388,290)	-1.5%	3.8%	944,997
PSK	SPDR Wells Fargo Preferred Stock	355,650	42.26	15,028,037	41.85	14,883,953	(144,084)	-1.0%	5.5%	816,275
VXF	Vanguard Extended Market	75,045	105.21	7,895,655	118.34	8,880,825	985,170	12.5%	1.3%	119,764
VNQ	Vanguard REIT ETF	109,771	79.22	8,696,379	78.53	8,620,317	(76,063)	-0.9%	4.0%	341,102
VIG	Vanguard Dividend Appreciation E	72,463	108.27	7,845,843	117.18	8,491,214	645,371	8.2%	1.9%	161,259
PSK	SPDR Wells Fargo Preferred Stock	35,550	42.21	1,500,494	41.85	1,487,768	(12,727)	-0.8%	5.5%	81,593
				97,197,934		102,351,155	5,153,221	5.3%	3.0%	3,109,650
Global Equity										
VEU	Vanguard FTSE All World ex-US ET	741,953	46.36	34,400,640	47.61	35,324,382	923,743	2.7%	2.7%	949,848
VYMI	Vanguard International High Divid	511,933	53.45	27,361,190	51.19	26,205,850	(1,155,340)	-4.2%	3.9%	1,030,982
VIGI	Vanguard International Div Appre	130,861	61.96	8,108,527	67.08	8,778,156	669,629	8.3%	1.8%	160,161
VNQI	Vanguard Global ex-US Real Estat	186,265	51.01	9,501,213	46.66	8,691,125	(810,088)	-8.5%	8.7%	758,173
EEMS	Ishares MSCI Emerging Mkt Small	116,885	38.50	4,499,967	39.04	4,563,190	63,224	1.4%	2.9%	132,875
SCZ	Ishares MSCI EAFE Small Cap	79,779	51.50	4,108,566	53.62	4,277,750	169,184	4.1%	3.4%	143,785
				87,980,103		87,840,454	(139,649)	-0.2%	3.6%	3,175,824
				287,775,802		291,948,631	4,172,829	1.5%	4.0%	11,807,462



BCPL Public Bond Portfolio

As of 06/30/2020

<u>Description</u>	Expected Yield	Yield to Maturity <u>at Cost</u>	Modified Duration (years)	Cost Basis	Estimated Current <u>Value</u>	Estimated Unrealized <u>Gain (Loss)</u>	Annual Income
Publicly-Traded Fixed Income Securities	s						
Wisconsin and State Agency	4.16%	4.19%	10.11	96,135,274	101,078,579	4,943,306	4,058,421
Municipal/School District	4.03%	3.95%	8.64	93,635,655	99,041,025	5,405,370	3,788,233
Treasury and Agency Securities	3.44%	3.45%	13.20	9,977,500	10,077,180	99,680	343,000
Corporate Debt	3.56%	3.56%	18.59	15,000,000	16,209,885	1,209,885	534,600
	4.03%	4.01%	10.21	214,748,428	226,406,669	11,658,241	8,724,255